MATH 113T – EXAM 3 – FALL 2003

SECTION 7777 (McClendon)

Instructions:  Do not write on this test.  Do all problems on the blank paper provided by the instructor.  Mark your answers clearly and write them in simplified form.  You must show all appropriate work in order to receive credit for an answer.    You may use graphing calculators, but show work algebraically. Find exact answers unless the question specifically asks for a decimal approximation.

_____________________________________________________________________________________________

1.
(a)
[6 pts]
Simplify:  
ln 1 – eln 4    

(b)
[5 pts]
Find the exact value of log2 83000 :


(c)
[6 pts]
Write the following as a sum or difference of logarithms with no exponents inside any of the logarithms.  Simplify your answer if possible: 
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(d)  
[5 pts]
Determine the domain of the function f(x) = ln (2 – 4x) :
 

2. 

[10 pts]
The population of a city after t years is given by the equation P = 10,000er t where t = 0 corresponds to the year 1900.  In 1950, there were 70,000 people living in the city.  How many people will live in the city in the year 2050?

3.  
(a)
[8 pts]
Solve for x or state that there are no solutions:
log3 (x-1) + log3 (2x-1) = 1      

(b)
[8 pts]
Solve the following system of equations.  Describe the solution of the system in terms of graphs.


   x   +   ( y 
=   2


   x   -
 ( y
=   7
4.
[8 pts]
A total of $14,000 was invested in two accounts paying 4% and 6% interest, respectively.  If the total annual interest was $790, how much was invested in each account? (Set up a system of equations to solve this problem.)

5.
 [4 pts each]
Sketch the following angles in standard position.  Be sure to indicate the correct direction of measurement and the correct number of turns:
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6.
(a)
[6 pts]
The angle of elevation from a point 116m from the base of the Eiffel Tower to the top of the tower is 68.9(.  Approximate the height of the tower.  You should give a decimal approximation correct to 2 decimal places:


(b)
[8 pts]
Solve the following right triangle.  You should give decimal approximations correct to 2 decimal places:







7.

[6 pts]
Suppose t is some number such that csc t = - 4 and sec t > 0.  Find cos t.

8.
(a)
[4 pts]
How many solutions does the equation 5 sin x = -3 have in the interval [0, 2()?  If there are any solutions, state what quadrant(s) the solution(s) lie in.


(b)
[6 pts]
Find all solutions to the equation (3 sec x – 2 = 0.

(c)
[6 pts]
Find all solutions to the equation sin 3x = [image: image3.wmf]"
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.
Copy the following pledge and sign your name:

I pledge on my honor that I have not given nor received any unauthorized assistance on this examination.

_________________________________________________________________________________________

_________________________________________________________________________________________
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